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PRE UPPER PRIMARY SCHOLARSHIP EXAMINATION (Std. Sth), JULY 2022
Seat No.
Set
Paper No. 11
Time : 01:30 to 03:00 Medium : English

 Total Marks : 150 Third Language and Intelligence Test Pages: 16 )

Read the following instructions carefully before you answer the questions.

(N This question paper contains two sections. In Section I there are 1 to 25 questions of Third
Language and in Section II there are 26 to 75 questions of Intelligence Test. All 75 questions are
compulsory.

2) All questions carry 2 marks each.

3) Time limit to solve the question paper is 90 minutes.

4) Separate answer sheet is given to record the answers. Each question has been given four
alternatives. Read them carefully. Select and darken the correct answer in the answer sheet.

For Example :- If the correct alternative for Q. No. 6 is 2, then record your answer as follows :
Question No. 6 - @ ‘ @ @

(5)  Answer recorded in any other form will not be considered. Such answer will be credited with
‘Zero’ mark. @ @ @ @

(6) Use blue or black ball pen to darken the circle. Circles darkened by pencil will not be credited.

(7) If more than one circles are darkened or overwriting is done, the answer will not be accepted.

() Answer once recorded can not be changed.

9) The rough work is to be done in the space given under each page or on the last page of the
question paper.

(10)  The exam has limited time, in case you are not able to solve a question, kindly solve the next
question. In the end if time permits you can try to solve the unsolved questions.

(11)  If incomplete or wrong question found in a question paper, you are not permitted to ask the same
to Supervisor or Centre Incharge.

(12)  School or parents should not send written application to Block Education Officer or Education
Officer for any error, mistake or objection issues. These error / mistake / objection issues should
be registered online through respective school login only.

(13)  The error / mistake / objection issues should be registered online within 10 - days from the
publication of Interim answer key on MSCE website.

(14)  Suggestion and decision of expert committee will be applicable on printing or any other mistake

in question paper.
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I9T . 01 9 03 €&t g

RS 49 TSI el TEUS SATAE; YU HEE SO AW AW Bk IATE.

FEWH I 96 g Bld R S YT IS B, AW Al 3caH
J3 TEUN Hohles. TG WA THCAE ARG hall I 3IcqW. RGeS U9
YUNUIE Wed Bid, 3NSH ARl gdl. P BEC §REe U Hivdd 9 SIgsW
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01.

02.

03.

S IR I a9 gld T8 ?
(1) R gge wd. 2) e S B,
(3) SMEE ATEET Bl (4) U= FUNOAE Hed B

FA IAAHEAR AW 0l JST Han?

A) GhISB!

B) 3caH d&t

C) AR

(1) % B (2) ®R A

(3) Waa A 3T C (4) aa A 37T B

Yeletiehl Ive vegren guTefl Seg IATATd SAToiel TRl ?
(1) Sfes (2) 9EREE
(3) I (4) 3ETE

HeedT HIHTHTS! Word
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04.

05.

06.

07.

08.

Glelid  ehigdr dTe. Wmmﬁa@wwwmﬁw.

STATd Uehgl |1 Wl
it USSl WAl S|
3ol HId JHTAT 9T
TR, ‘e 99 & |
e o Mo o e | < M S R
TEUTA, T 9TSer R |
% e BEd Ue
qH %ed 98 a3l
BIGATTE WThs AT
Wes gft S |
S AU @left s |
ST o1 Shedl
TR, @91 Al gE @l |
gUd WO U KO B ?

(1) @fw (2) @ (3) 3Ir&dd (4) WS
Hfgad fordt o=l A STeft stRa ?

(1) 3138 (2) @ (3) @&l (4) 9=
YEITUehl hivTeam vegr GEER] Weq Widdd  SfTeren el ?

(1) @ ) T (3) &l (4) I
=g A wregren wEETE STeien Yeg waREqd fas.

(1) SIfEreprd (2) g (3) TSR (4) T
JEIcTuehl foegqe AT IegN IS WGl IV ?

(1) 3% x TH (2) IS x Gl

(3) W x GHMEA (4) @ x =T

HeedT HIHTHTS! Word

0502-English Set-A 3of16 P.T.O.



09.

10.

11.

12.

13.

14.

15.

AT WbeAT TAOHAT 60 I Ul el WUE Wed _ HElEd
TS hel.
(1) 3 (2) gl (3) & (4) =
I eqfieEeh weg e,
qUTd S oAl heald Y@el _ ohdll.
(1) TE@SE (2) AR (3) TETER (4) HEHI
PRI EIRECER
SESET _ UlEd A¥Edl BROHST diedl.
(1) e (2) eIt 3) == (4) T
S, HOE” - GUS; 9§, He™wreS 7
(1) e (2) = (3) et (4) HIEes
YESYR Yradges Mededt )]
I qrpYER s
(1) Tm3ul. (2) TEI WO (3) TEg wwEw.  (4) Hq oL
Fehddial AW J3gd TR BT AAYY Teuiiidd WOl 3I§R hIvId ?

A | A 3| A

C S (1) =

g | @ | A | (2) ©ft

1|93 3) #

]2 “4) g
+

TEAE HE S LA oIl 9 AN STE SAETS AT
AURRgd weern Ig 31 R ?
(1) Faq () T=a feen  (3) mflale (4) s

HeedT HIHTHTS! Word
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16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

UEUehl AT - Sievleg tEeen wat faaer.

(1) gamH (2) dTdTeRT (3) WrREesl (4) grefizen
Qe & A HAH Jdgd qAR BT HAQU Wedrdie fehcear shHTeRT=H
A Uded ™ IR AT AYTET I IR BISA?

3, 9, %, 9, &, 9

(1) 2 = 3 1 & 2) 4 = a 1 &

(3) 3 =md 4 = (4 6 =0 3 3 =m

el eIt A ' fohd ?

STl 3eue R urgd famren et wer.

(1) =R 2) @A (3) o+ (4) 9=

@A ardid fRATIe e
o U WS AT,

(1) 3Tesd (2) o (3) = (4) WS
UEdehl TYHeRICTTl AW TECIA AT hIvTdT ?

(1) 3 2) = (3) TG (4) @R
geleruehl  ffogaquul Tehaea stEcien Wi faer.

(1) 78 2) = (3) wed (4) WM

Grefld arRTd v fomfees g Ufgdl 311R ?

M T foema, ‘W I TR w1 wumEe

() Teufem  (2) WA (3) uifermm (4) SgmiE
UEeTdehl ITI[gY WIeGTET UM IV ¢

(1) Tepcfererre (2) ertEson (3) «mHih (4) 9

=Y A 7 fia i fafed eg?

(1) J&d sm9e (2) WM WESA  (3) AT ASh  (4) T AEImE
AR ULl It T &l I Udlh ATR.

(1) wqeeh (2) =t (3) Tt (4) «m

HeedT HIHTHTS! Word
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SECTION - II

INTELLIGENCE TEST

26. How many two letter words are more or less than the four letter words in the
given sentence?

“Raju helped Ram while he was climbing Shivneri Fort.”
(1) More by 1 (2) Less by 1 (3) More by 2 (4) Less by 2

27. In the given alphabet series which letters have occured same number of times?
KPGGPKGHTPDKGPTDP
(1) PG 2) KT 3 TD 4) DP

28. In the given number series how many times does ‘3’ occur before ‘5’ but ‘4’
does not occur after ‘5°?
(835245353465435356435354357)

(1) 7 times (2) 8 times (3) 6 times (4) 9 times

Q.29 to Q.33 Direction:
Select the odd term

29. (1) to see - to look (2) dirty - dusty
(3) hand - fore arm (4) poor - weak
30. A C A B
Q P R Q Q P P R
C B B A B C A C
R P R Q
(1) 2) A3) 4)
31.
) O Co T
(1) (2) (3) (4)

SPACE FOR ROUGH WORK
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32. (1) 4 2) 17 (3) 7 4 12
33. (1) 111 (2) 482 (3) 231 4) 362

Q.34 and Q.35 Direction:

Consider the pattern in the given number series and select the correct option
to replace the question mark.

34. 53, 61, 68, 82, 2, 103

(1) 92 2) 91 (3) 89 4) 95
35. 2,4, 7, 12, 19, 30, 2, 60
(1) 47 (2) 43 (3) 49 4) 45

36. In the given series of symbols select the correct group from the options to
replace the question mark.

<+ X — X — < +

9

X — < +

7+X_<9
) <x+- @

- <+ x,7?

(3) <+ x — 4) >+ x —

37. Select the correct figure from the options to replace the question mark.
Question Figures

38.

. + A
+ A ° .)
A ° -+ [ ]
& A .
Answer Figures
+ \Y/ A + A A
X +
(1) (2) 3) 4)

Select the wrong term in the given number series.

1 3 5 7 9 11
326 11 > 17 > 27 > 38
M 2 @ g 3 & @ 55

SPACE FOR ROUGH WORK
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39.

40.

41.

42.

43.

44.

In the adjacent figure how many triangles are there?

(1 8
2) 10
3) 11
4) 5

In the following question various faces of a cube are shown. Study them and
find the number which is on the face opposite to 5.

1 2 1 6 (1) 2
1 3 3 3 (2) 6

2 6 2 5 3) 1
4 4

If Horse is called Camel, Camel is called as Zebra, Zebra is called as Donkey,
then which animal is called as ‘Ship of Desert’.
(1) Horse (2) Camel (3) Donkey (4) Zebra

Ajay is taller than Ramesh but shorter than Sadu. Sameedha is taller than Ajay
but not as tall as Sadu. Who is the tallest?
(1) Sadu (2) Sameedha (3) Ajay (4) Ramesh

Five years ago John and Ahmed’s age was % and % times respectively of

Sharad’s age at that time. If John’s age was 8 yrs at that time then what is
the addition of ages of all three, two years later?
(1) 38 yrs (2) 53 yrs 3) 359 yrs (4) 40 yrs

There are two married sons and three grand children in Radha’s family. Find
minimum number of members in Radha’s family.
(1) 12 2) 11 3) 10 4 9

Q.45 to Q.49 Direction:

In the given questions first term has a specific relation with the second term.
The same relation exists between third and fourth term. Identify the relation
and select the correct option to replace the question mark.

SPACE FOR ROUGH WORK
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45. Maharashtra : Governor India : ?
(1) Prime Minister (2) President
(3) Chief Minister (4) Vice-President
46. I\/I
XX 42

2

q T b
b N N d
(1) (2) 3) 4)
47.
@ ) e
(1) (2) 3) 4)
48. 13 :169 :: 15:7
(A) 225 (B) 175 (C) 195
(1) Only ‘A’ is correct (2) Only ‘C’ is correct
(3) ‘A’ and ‘B’ both are correct (4) ‘A’ and ‘C’ both are correct

49, 27 : 14 :: 18 : ?
(1)y 13 2) 12 3) 15 4 17

SPACE FOR ROUGH WORK
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50.

51.

52.

53.

In the adjoining figure, if one walks from ‘House’ (A) to ‘School’ (B) in the
direction of the arrows, how many times has he to turn to his left?

B School
A % (I) 6 times
House .
(2) 5 times

(3) 11 times

(4) 7 times

Rahul says, “There are 6 boys standing in front of me in a row and Amit is
at the third position behind me.” Amit says, “l am standing next to the boy
who is exactly at the middle place in the row.” How many boys are standing
in the row?

(1) 18 2) 19 (3) 21 4) 23

In a certain year if Independence day occurs on Tuesday then in the same
year which day would be the last day of the year?
(1) Sunday (2) Monday (3) Tuesday (4) Wednesday

The adjacent figure shows the number of players playing different games.
Observe the figure and find how many players play at least two games?

1y 34 ‘ «—— Kabaddi
) 39 Cricket —

3) 21

(4) 47 Hockey —— 14

SPACE FOR ROUGH WORK
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54.  Select the correct option to describe the given venn diagram.

(1) Male, Female, Doctors
(2) Numbers, Even numbers, Odd numbers
(3) Trees, Mango, Jackfruit
(4) Country, State, District

55. In the given square pattern, select the correct option to replace the question

mark.
11 | 67 | 17 (;) g
41 | 2?2 | 47 (2)
23 1 31| 5 (3) 59
4) 53

Q.56 to Q.60 Direction :

A set of terms is given at the beginning of the question. These terms have
some common characteristic. Find out the term from the alternatives that matches
the given set of terms.

56.  Step mother, Snow white, Spring time, ?

(1) Distrust (2) Foot print (3) Black white (4) Day night
57. Hard, Challenging, Testing, ?

(1) Easy (2) Joyful (3) Effortless (4) Difficult
58. 25, 123, 62, 6, ?

(1) 341 (2) 216 (3) sl11 (4) 218
59. 297, 135, 501, 189, ?

(1) 503 (2) 355 (3) 243 (4) 781

SPACE FOR ROUGH WORK
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Al

a5
S
a5
ST
a5
S
ana
(1) () 3) 4)

Q.61 and Q.62 Direction:
Select the mirror image of the given question figure from the options.

Question Figures

61. Question Figure Answer Figures
752 a7 [\ | | SeY | | SGY
(D 2) 3) 4
62.  Question Figure Answer Figures

(1) (2) 3) (4)
Q.63 and Q.64 Direction:

Select the water image of the given question figure from the options.

SPACE FOR ROUGH WORK
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63.  Question Figure Answer Figures
(D 2) 3) 4
64. Question Figure Answer Figures

MNZ NN INNX] [ZUM| [ SUM

(1) (2) 3) 4

65. Identify the pattern and select the correct option to replace the question mark.

" (1) 25
‘ o
Do >
" 4) 17

Q.66 and Q.67 Direction :

Word BUT TAP BAT
Code A @ OV A | A =X @

In a certain code language, symbols are used for different letters. The sequence
of the letters and of the symbols may not necessarily be the same. Observe
the code in the above frame and answer the questions.

SPACE FOR ROUGH WORK
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66.

67.

Which symbol is represented by ‘U’?
1 A 2 @ 3) O (4)

How is ‘TOP’ written in the given code language?
(1) reVv 2 VelLll 3 &wAVY 4 ANV

Q.68 and Q.69 Direction:

68.

69.

70.

Select the identical figure to the question figure from the options.

A
Question Figure qg;\k;

Answer Figures
A A A

22 e ) (e

(1) 2) 3) (4)

NN

Vi
Answer Figures

A2 AV )» 0),

(M 2) 3) 4

In a certain code language. If CAT = WYE, MEN = MUL and DOG = VKS
then how will you write the word which is opposite gender of ‘OX’?

(1) KB (2) WOC (3) WKC (4) RBK

>

Question Figure

SPACE FOR ROUGH WORK
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71

72.

73.

74.

75S.

( ABCDE FGHIJ KLMNO PQRST UVWXY )

In the given alphabet series which letter is at the sixth position on the right
hand of the letter which is at fourth place to the left of the letter which is
nineth from the right hand side of the series?

() R (2) S 3 G 4 T
Letters C M D K L W N R P
Numbers 7 8 5 4 2 9 6 0 3

Observe the given table and solve.
D+W+P-(N+L)=2?
(1) R 2) P 3) L 4 N

Purva is facing the south-east direction and she turns to her left two times at
right angle and does Shirshasan. (up side down, with head down and legs up)
which direction is pointed by her right hand?

(1) South-west (2) North-east (3) South-east (4) North-west

You see an injured sparrow on your way to school. What will be your
immediate action?

(1) T will loudly call my friends.

(2) T will neglect the baby sparrow.

(3) I will inform the Head-master of my school about the incident.

(4) 1 will serve water from my water bottle and shift the sparrow to a safe
place.

Whose action from the following is the most correct action?

(1) Raju collected all the garbage from the varanda and burnt it.
(2) Sameer threw the wet garbage in the dustbin.

(3) Sameedha collected all the garbage from her house in a bag.
(4) Suresh converted wet garbage into manure.

SPACE FOR ROUGH WORK
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